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BT & WSS Ieg T s T % z
X 55,044 124535 60,687 63,848
=z 628 1,506 743 763
REFZHT 1,656 3,801 1,916 1,885
FEET 216 465 260 205
FE T 1,091 2,370 1,159 1,211
INBR 1,371 2,938 1,355 1,583
NG 240 511 264 247
FRET 1,778 4,011 1,947 2,064
AE 783 1,867 918 949
itz 1,803 4,086 1,969 2,117
Fazsdt 2,150 5,372 2,674 2,698
TIEET 2,824 7,255 3511 3,744
i 622 1,487 749 738
TERET1T 828 1,744 869 875
TERET2T 801 1,828 898 930
TERET3T 909 2,306 1,131 1,175
TERET4AT 502 1,174 593 581
TERETS T 609 1,481 772 709
3,649 8,533 4,263 4270
J\E=FHT 807 1,832 891 941
J\EILHT 2,273 5,346 2,618 2,728
J\ETET1T 4 7 5 2
J\BTET2T 1,242 2,436 1,130 1,306
J\BTET3T 530 1,097 544 553
1,776 3,540 1,679 1,861
J\EB R ZHT 438 741 355 386
®/\H 543 1,184 585 599
B 2,287 5,450 2,677 2,773
EH 1,268 3,023 1,518 1,505
EFALET 2,301 5,108 2421 2,687
EFIRET 1,734 3,391 1,624 1,767
EHIFKHET 2,729 5,719 2,803 2,916
R R HET 3,544 7,953 3,875 4,078
R LT 1,215 3,017 1,495 1,522
PRI RHET 1,167 2,650 1,297 1,353
EH K ET 1,489 3,198 1,594 1,604
RBR 7 8 4 4
ER1T 552 1,258 604 654
ER2T 492 1,160 572 588
ER3T 286 713 337 376
ER4AT 500 1,181 597 584
ERST 242 539 272 267
ER6T 429 955 483 472
2,508 5,814 2,869 2,945
1=H 5528 13,037 6,345 6,692
RE 707 1,506 707 799
¥& _EHT 1,567 3,562 1,758 1,804
RErL 343 740 357 383
= [RET 2,009 3,522 1,491 2,031
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